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T -1/ PART -1

[3]

[A]

91 fa 9 [3Ensme/CHILD DEVELOPMENT AND PEDAGOGY
3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frfofag & @ R9-91 ITGHT F T
T T8 %7

(1) uRfw feemy ong

(2) TiT Fer

3) ‘RE 4 =’ a1y

4) FRIE sg/ed oy

F T e TR TR 71 e 8 7
(1) 209 25 (2) 209 S
(3) 259 36 4) 369 51

frefofeg & @ @9-a@  faew
TG & SBpT & oFFid 78
T ® ?

(1) 9EIE &9 § 999 dR Jds &
ZFER & HiET

(2) gEioTs ®1 § |G G @
Al

(3) IS AT @l e
(4) BT TTER

gfE H T YRR S RO A,
Tole, T S B U Sm ®,
e & ?

(1) Tierhl i
(2) i g

(3) dfpeh-TMT i
(4) i gfs

Level-2/4205

1.

2.

Out of the following which is not the
other name of childhood ?

(1) Elementary school age
(2) Smart age

(3) Pre-gang age

(4) Gang age

What is the approximate I.Q. range of
'‘Mangolism' mentally retarded children ?

(1) 20to 25 (2) below 20
(3) 25to 36 4) 36to 51

Out of the following alternative which
does not come under processes in
socialization ?

€]

learning to behave in
approved ways

socially

2

playing approved social roles

3)
“)

development of social attitudes

egocentric behaviour

A type of intelligence which is mostly
visible in dancers, athletes, surgeons
etc., is known as what ?

(1) Bodily-kinesthetic intelligence
(2) Spatial intelligence
(3) Logical-mathematical intelligence

(4) Musical intelligence

P.T.O.



[A]

Frr & @ @9-a1 daos g & a«
7 &

(1) S g

(2) STTCH-SARRET

(3) wgHf

(4) TGl P HEAIMAd B

s fErdl ge % g} 9N W 58 g«
S @, g, 9%, e IR & oM

W 0% T 9= e & AR 9y |
S TR & A B F FEl A 5 7

(1) GARTHH Grg=T
(2) AR g

(3) FEEFYEE G
(4) WemRIfe G

Frfofed & & aF-a1 aHes A=
g wheT 78 B ?

(1) STt ster qeror

(2) STt STEHl qETT

(3) farern e

(4) T\ MR A

SIS & S & AgaR W

A Ra a9 & fhe aRRafe a=
% IEE E 7

(1) HEshic=
(2) BB
(3) Ha=
4) TEE

Level-2/4205

[4]

Which of the following is not an
element of emotional intelligence ?

(1) Entrepreneurial competence

(2) Self-motivation

(3) Empathy

(4) Handling relationships

A student learns new concepts such as
'Carnivorous animal' on the basis of
words known by him such as tiger, dog,

lion, leopard etc. This type of learning
is known as what ?

(1) Combinational learning

(2) Subordinate learning

(3) Correlative learning

(4) Superordinate learning

Out of the following which is not the

type of group non-verbal intelligence
test ?

(1) Army Beta test

(2) Army Alpha test

(3) Chicago test

(4) Revence progressive matrices
According to Bronfrenbrener, law and

customs are examples of which of the
following ecological system of child ?

(1) Micro system
(2) Macro system
(3) Meso system

(4) Exo system



9. FEAT & IR ‘i EE @ @
U oraer Red B A STol
A B TN F vl G
T AfcepaT 1 BF-T1 ST el TN R 7

(1) AT & @ R &R
(2) Sferpa B IFREE X

(3) SferpdT &1 999 IERE WX
(4) Sfepar & W IREE &)

10. T STURTE H1 BRI 78 & :
(1) R aw

(2) st

(3) ST

(4) e =R e

1. F=fofeg & & 9w 99w 9
afead 78 ® 7

(1) SeTane

() i

(3) F@

(4) 9 e

12. fr=fafed & @ d9-a1 e 9 e

frQear it gt & °

(1) S== § ‘GRO-99E g’ Jo1 ‘a8]
®» W@ e fEr fJetd
BT

() 9% ¥ @ & MEid & ud
HE1, dMehed [amd &1 Jehe BN

(3) SITH oYY URAST H Hidae @9 §
T ST YT 8 |

(4) e farl & A aew a9m 8
e B

Level-2/4205

[5]

10.

11.

12.

[A]

According to Kohlberg "a stage of
development during which
individuals judge morality largely in

moral

terms of existing social norms or rules"
is known as which level of morality ?

(1) preconventional level of morality
(2) conventional level of morality
(3) postconventional level of morality

(4) unconventional level of morality

Which is not the cause of delinquency ?
(1) Physical defect

(2) Poverty

(3) Failure

(4) Proper home environment

Out of the following which is not
related with 'Cognition' ?

(1) Perception
(2) Thinking
(3) Walking

(4) Concept formation

Out of the following which alternative
"Concrete
Operational Stage" given by Jean Piaget ?

shows characteristics of

(1) Development of idea of 'cause-
effect relationship' 'object
permanence’ in children.

and
(2) The child gains understanding of
principles
logical thought emerges.

such as conservation

(3) The child begins to represent the
world symbolically.
(4) Becomes capable of creating

several forms of logical thought.

P.T.O.



[A]

13.

14.

15.

16.

17.

HF-AT SARBRT HT 9% 78 o 7

(1) STaggeat  (2) eaafd
(3) I (4) Hiams

i FHES H U fafy ?

(1) Me=

(2) &9

(3) AT
(4) -

RN e CEAC: B k| MRS N C?
e’ @t fhae awartaa e ?

(1) stH =

(2) 9 AN

(3) o THo TN

(4) BT

‘T gETS B [HAdl [ HHRD
G § FaRyd & F FEAT 2 7

(1) TR
(2) FHIISEHT
(3) TIAABIT

(4) 9red

oM ™ % damee e & R

WS H AT F -

(1) & R % A & ©N oo
T RAT BN

(2) F® o B % 9fd 99 T we
foepierd @] |

(3) & U T #H WRA B AT |
U9 1 99 T9EH |

4) A B FHar e & ufd e
01 e & |

Level-2/4205

[6]

13.

14.

15.

16.

17.

Which is
motivation ?
(1) Needs
(3) Drives

not the component of

(2) Rote Memory

(4) Incentives

Direct method of personality adjustment
is:

(1) Sublimation

(2) Projection

(3) Regression

(4) Removing of hurdles

Who proposed "Sociocultural Theory"
of cognitive development ?

(1) Jean Piaget
(2) Lev Vygotsky
(3) I.S. Bruner
(4) Kohlberg

"Incorporation of new information into
existing mental frame works" is known
as what ?

(1) Assimilation
(2) Accommodation
(3) Equilibration
(4) Organisation

For the emotional development of his

pupil the teacher should :

(1) Try to usurp the place of pupil's
parents.

(2) Develop love and affection for his
pupil.

(3) Take a loveable attitude towards
the mischief of the pupil.

(4) Show favours
pupils.

to few selected



18.

19.

20.

21,

22,

I SIS T B T & 7

(1) 28 6 a9

(2) 68 12 T

(3) 48 7

4) 119 15 a9

To dlo Eo ARDRON T & Yads
P g ?

(1) g

(2) feermé

(3) =R Td S

4) A=l

o8 g0 IR & fow B og= @
AT foRar T e ?

(1) ST qF &Har

(2) AEAfE AR ST

(3) T HHRE &Had

(4) I=9 AT &

frfofeg & @ em-d@ foflfwes @

et & oelEcdeedfRe T @
TIa g R ST "eRan ?

(1) AMINTG P
(2) ¥R o g

(3) GoICEe IS
(4) e faw
R MG e U T I S |
frad grr @t T ?
(1) e
(3) UETAfSll

(2) ded
4) g<

Level-2/4205

[7]

18.

19.

20.

21,

22,

[A]

What is the age group of late childhood
stage ?

(1) 2to 6 years
(2) 6to 12 years
(3) 4to 7 years
(4) 11to 15 years

Who was the propounder of N. D. L
motivation formula ?

(1) McDougall
(2) Hilgard

(3) Blair and Jones
(4) Maslow

Which word was used by Thurstone for
'intelligence' ?

(1) Primary Mental Abilities

(2) Universal Mental Abilities

(3) Neutral Mental Abilities

(4) Higher Mental Abilities

Out of the following which activity/area

may not be considered as co-scholastic
aspect of learner ?

(1) Social skill

(2) Attitude and values

(3) Creative skill

(4) Curricular subjects

The first psychological laboratory was
established by whom ?

(1) Galton (2) Cattell

(3) Pestalozzi (4) Wundt

P.T.O.



[A]

23.

24.

25.

26.

‘IR B JE GEE 6 IR 9 fRAl o
d, @ oFf ST @I # T T S
IR Dl T THR B TN B FT Bal
ST 8 7

(1) o7 Team
(2) fefm Reran
(3) fefwr Eeran
(4) fom wigsmsa

ferdft & affa & @@ faew @
e [h8 T H Tedih FHoadl © ¢

(1) | g

(2) G e
(3) ST (1) T (2) A

(4) IR (1) T (2) A T
Fret & @ Si9-d e g 78 8 7

(1) dEr

(2) @y

(3) NI T9e

(4) g

‘Sfc | fF@ & M & 9% ARas 9

NFd & I FE [T sae @i
ferear ® ?

(1) HaE-THeh SFere

(2) Yd HfihaTH S

(3) o GRS e

(4) =R HhareT e

Level-2/4205

[8]

23.

24.

25.

26.

"Children's
gender will not change even if they
adopt the behaviour, dress, or hairstyles
of the other gender". This type of
children's understanding is known as
what ?

understanding that their

(1) Gender identity
(2) Gender stability
(3) Gender consistency

(4) Gender stereotypes

Assessment of all-round development
of the child's personality is known as
which type of evaluation ?

(1) Continuous evaluation

(2) Comprehensive evaluation

(3) Above (1) and (2) both

(4) Neither (1) nor (2) above

Which of the following is not a defence
mechanism ?

(1) Identification

(2) Compensation

(3) Rationalisation

(4) Association

'‘Out  of

characteristic of which of the following
developmental stage ?

sight out of mind is

(1) Sensory-motor stage
(2) Pre operational stage
(3) Concrete operational stage

(4) Formal operational stage



27.

28.

29.

30.

M 1 98 VR o foEmi § ©
ST G @ "erEar 8 Y fEw A
T FEm @ SMd gC e w1 O
YT &, B P Fed & 7

(1) TEHT FiET
(2) g drEe
(3) SiErEY die
(4) F=Tor e

freifafgd & & @F-a1 36X &0 W&
o &Y faT= 1 aren X g 7

(1) AESEE Goroh

(2) IUIEH GorcHS

(3) AT GIHD

(4) =Rl G

frefafed & SF-a1 faEen & o
™ 7 R ?

(1) STEER qar WeEen & s &
RICEIR]

(2) GHERTE STae
(3) Gud, T U foy & orawn
(4) T srae

T FARIS B g ©
(1) Hesierar

(2) STcAgar d B

(3) HaTe AR

(4) STt =t

[9]

27.

28.

29.

30.

[A]

A type of learning in which students try
to learn by emerging new rule through
given learning material, is known as
what ?

(1) Rote learning

(2) Meaningful learning

(3) Reception learning

(4) Discovery learning

Out of the following which is fourth

of Taylor's theory of
creativity ?

level level

(1) Expressive creativity
(2) Productive creativity
(3) Innovative creativity
(4) Inventive creativity

Out of the following which is not the
other name of Adolescence ?

ey

Transitional period of childhood
and adulthood

2)
3)
“)

Problem age
Stage of stress, strain and storm

Smart age

Characteristic of good adjustment is :
(1) Tolerance

(2) Lack of confidence

(3) Emotional unstability

(4) Irregular life habit

Level-2/4205

P.T.O.



[A]

ArT- 11/ PART - I

[10]

A1 (R=T @ 3fISH) / LANGUAGES (HINDI & ENGLISH)

[ =<t/ HINDI ]

31 : =it goal & Gav 37 & [ qae afEd ey g

31.

32.

33.

AT B G O T B - I
HRE B ISR 8 7

(1) FHBH
(2) Gd9 FRD
(3) EYEN FHRb

(4) SAYHT FH

it gie § AYS fGehed JHm
(1) o

(2) SfeTasm

(3) geargarE
(4) JIW

Syt gfte § oyl fec
gifey :

(1) ForeT-Foe

(2) dR-AARA

(3) didi-afe

(4) a9i-uIes

Level-2/4205

34.

35.

36.

37.

Tg & 3T | ST [9eed Jaisy ¢

(1) o= + 39 = farenma

(2) 3 +TA = T=HA

(3) g1 + T = aiyg

(4) TH® +T = aHI®D

=1 4 4 g et d ‘@W 9= &
faofiar s fear e ® 2

(1) ™ & ‘@ @ = |

(2) S IEF ‘FH G G |

(3) ‘@ & 9 U % |

4) ‘T AT & I T

fra faees § g8 9 # SIE T8
g7
(1) qeamed

(2) FTA
(3) BERET

(4) SfErargre

foeim @ gfte & 39 @ BifeT ¢
(1) -3

(2) TA-STIAX

(3) Ufessh-Jfrard

(4) T-go



38. e faehey ® ‘o IUEH H YA g

39.

40.

41.

g7

(1) SAraf~ieh
(2) afereA
(3) AT
(4) ST

o amm & ‘omem’ (faemed) afq @
SERT g © 7

(1) g9 oFR Fea a § T T &< |

(2) 99 B SN H AEGT @A
MRy |

(3) Tl & =Ry {6 98 ¥ * T
i B T R

(4) ¥ arear § f6 g W 6 )
Qe % gfte @ o e gig
(1) el — S, fas, TR

(2) S - FTH, U, R

(3) a8 — A=A, AW, HH

(4) RO — L, @, q
‘Areared’ drell foehed g

(1) A R el G TR |

(2) THS § A9 Tewn o 2

(3) ARG &R 91 9IS BT T |
(4) Heel I ITH AT

[11]

42,

43.

44,

45.

[A]

fore a@ # ‘FaRT @ SRR gaT © °

(1) T IR 99 AR @ @9 © 2|

(2) FHaar ot Rl s W@ R

(3) TH A &Y A & B |

@) T 90 g & N SEs ewd q
3 T

fpe famea # fowrt @fr @1 @ 7@
ger & ?
(1) foeg=
2) Rrer
(3) draEd

(4) 9g

‘THe | IR Y g - a9 § UgE
fopaT-fager @1 9% 3F@ Ff -

(1) YRETErES

(2) HIArED

(3) ifcrares

(4) A=

Thae § Sgaed o9 fohedl H ST
g
(1) S St

(2) ag-agy
(3) TG-St
ORI SIE

Level-2/4205

P.T.O.



[A]

[12]

[ 37350 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

50.

Choose the correct synonym for the
word given below :

Gallant
(2) Impolite
(4) Fearful

(1) Valiant
(3) Rude

Choose the correct modal.

Some people .............. ski better than
others.

(1) must (2) can

(3) could (4) should

Fill in the blank with appropriate
preposition.

Ipaid thebill .............. cash.
(1) in (2) at
(3) for (4) with

Choose the correct word for the sentence.
A man who 1s womanish in his habits.

(1) Arsonist

(2) Epicure

(3) Effeminate

(4) Fealty

Choose the correct antonym for the

word given below :
Bankrupt

(1) Penniless

(2) Insolvent

(3) Ruined

(4) Solvent

Level-2/4205

51.

52.

Fill in the blank with the correct
option :

doing the cooking, I look
after the garden.

(1) Beside
(2) However
(3) Besides

(4) Therefore

Choose the most appropriate form of

Indirect speech for the given sentence.

The teacher said to Hari, "Why did you

not do your homework yesterday" ?

(1) The teacher asked Hari why had he
his the

previous day ?

not done homework

(2) The teacher asked Hari why he had
his the

previous day ?

not done homework

(3) The teacher said to Hari why had
he not done their homework the

previous day ?

The teacher said Hari that he had
his the

“)

not done homework

previous day.



53.

54.

55.

56.

Choose the correct passive construction
for the sentence given.

We visited the zoo of Jaipur on last
Sunday.

(1) Zoo of Jaipur were visited by us on
last Sunday.

(2) On last Sunday the zoo of Jaipur
was visited by us.

(3) We were visited the zoo of Jaipur
on last Sunday.

(4) Zoo of Jaipur was being visited on
Sunday last by us.

Cooking is his hobby.

The underlined word is used as a :
(1) Verb

(2) Gerund

(3) Participle

(4) Infinitive

Choose the correct determiner.

................ knowledge is a dangerous

thing
(1) The little (2) Little
(3) Alittle (4) The few

Choose the correct preposition.

I had not slept or eaten anything

properly ................ two days.
(1) since (2) from
3) in 4) for

[13]

57.

58.

59.

60.

[A]

Fill in the blank by choosing the correct
option.

The Headmaster and the Secretary
................ present in the meeting.
(1) was (2) were

(3) was being (4) were being

Choose the correct form of verb.

Did you not ................ about the
world Atlas.

(1) knew (2) known

(3) know (4) knows

Choose the correct option for the

underline word.

Our parents have raised us to be a good

citizen.

(1) Brought up

(2) Brought by

(3) Brought out

(4) Brought down

Choose the word which 1is spelt
correctly.

(1) Commited

(2) Committed

(3) Comitteed

(4) Committeed

Level-2/4205

P.T.O.
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[14]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A ARG, dliche SARTEHCT R | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]
& : [t gea & gav &7 & frg qaw o [AEe g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

=T e & g &

WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

5 e L A = A1 | Rl o L

DHL, PTX, BFJ, .....
(1) CCGK (2) KOS
(3) NRV 4) OVZ

Th HE P oEe 8,500 B, I ved
af @ 20% g EE, R o wEd
25% gi& g, 1 & 99 9
sWee et B ?

1) 10,950
2) 12,750
(3) 11,950
4) 12,550

18,000 99 W 2 a4 & 10% dqM® &
q Thgle &A1 g HIERT A P I
1 B 7

(1) 150 &9
(2) 180 &1
(3) 210 Q)
4) 316 9

Level-2/4205

61.

62.

63.

64.

Complete the following Series :
WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

Find the next term of the following
letter series :

DHL, PTX, BFYJ, .....
(1) CGK (2) KOS
(3) NRV 4) OVZ

The population of a town is 8,500. In
first year it was increased by 20% and
in second year again increased by 25%,
then what is the total population after
two years ?

(1) 10,950
2) 12,750
(3) 11,950
“) 12,550

What is the
Compound interest and Simple interest
on the amount of Rs. 18,000 in 2 years
with the rate of 10% per year ?

(1) Rs. 150
(2) Rs. 180
(3) Rs.210
4) Rs.316

difference  between



65.

66.

67.

68.

14,500 U3 HERO &N W 6 a9
21,460 B9 & S B, ST @ i
™ E?

Ll
T

1) 4%
2) 10%
3) 6%
4) 8%
T BEER @d & e A 20
Mex, 21 WeX a9r 29 HieX §, 39 @d W

15 593 gferat HieX # X 9 BOd dled
H G H BT ?

(1) 2,100 59
() 1,890 59
(3) 3,150 59
(4) 2,500 59
% fbe 09 ¥, 6 faaredl @ ofed
e 36 | A 3 | uw Raaer |

16 ™ T9T &, @ 99 Reenisd
ld @ ge fha & ?

1) 24

@) 30

3) 36

4) 40

i Ee @ O Y
24, 60, 120, 210, ?

(1) 336

2) 270

3) 512

) 500
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65.

66.

67.

68.

[A]

The total amount of Rs. 14,500 with
simple interest in 6 years is Rs. 21,460,
find out the Rate of interest per
annum ?

1) 4%

2) 10%

(3) 6%

4) 8%

The sides of a triangular farm are 20 m,
21 m and 29 m respectively. How much

will be total expenses for cutting the crop
at the rate of Rs. 15 per square meter ?

(1) Rs. 2,100
(2) Rs. 1,890
(3) Rs. 3,150
(4) Rs. 2,500
Average runs of 6 players in a cricket
match was 36. If one player made 16

runs, then what is the average runs of
remaining players ?

1) 24
2) 30
3) 36
4) 40

Complete the following series :
24, 60, 120, 210, ?

1) 336
2) 270
3) 512
4) 500

P.T.O.
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71.
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73.

Th q9 TA1 T PN B A B AU
6 :7%, 3 FX 4 H T 364 ol A
g T B, A 9 H A A A

(1) 60 fFHi/geT
(2) 72 FRHIEeT
(3) 78 fpHI/ger
(4) 84t/

fhdl Tidlde 9 § GRANT @
UOBSH %8l 9T, TIME & FNJU &l
S, @ PRIDE &I #91 %8l S ?

(1) QSJEF
(2) OQHCD
(3) FEISQ
(4) TPMED

q et & AgAd 30 S T, T S
IMhHT 240 B, TRl H X
BT ?

1) 60
(3) 120

(2) 100

4) 90

fpell d&m & 60% @ 3/5 Ak 36 &, @
de & A 1 B ?

(1) 60

(2) 100

(3) 120

4) 150

gt DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, @ CAR =?

(1 3 2) 6

(3) 8 4) 16
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69.

70.

71.

72.

73.

The ratio of speeds, of a Bus and Car is
6 : 7. If car covers 364 Km distance in
4 hours, what is the speed of Bus ?

(1) 60 Km/h
(2) 72 Km/h
(3) 78 Km/h
(4) 84 Km/h

In a code language GRANT is written
as UOBSH, TIME is written as FNJU
how is PRIDE written in that language ?

(1) QSJEF
(2) OQHCD
(3) FEISQ
(4) TPMED

The ratio of two numbers are 3 : 5 and
the addition of those numbers is 240,

what 1s the difference of those
numbers ?

(1) 60 (2) 100

3) 120 4 90

If 3/5 of 60% of a Number is 36, then
the value of the number is :

(1) 60

(2) 100

(3) 120

4) 150

If DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, then CAR = ?

1 3 (2) 6

3) 8 4) 16



74.

75.

76.

77.

A @ B it fFet &M @ 15 ' H
T HYq 2, el B e 3@ 20 &
T g BT 8, A SThal 39 HH H
fhee & & H9rQ ®em ?

(1) 60 (2) 45

(3) 40 4) 30

qeH W TH U H ofNa s BR |
168 @M W @l 2| fawm o 8R) @
18F M W 81 MU e & T& iR
11§ WM W 2, X fwm q f 8r
F AN G WE W gl 39 U H
fre @e% @S gL E 7

(1) 41

() 42

(3) 48

4) 49
frfofag & & B9-ar v af & ?

(1) 1800

(2) 1900

(3) 1700

4) 2000

fpell Widicd W F "go home" H "ta
na" %8 ST "sweet home" & "na ja"
%8l ST T "Sweet and Sour" & "pa sa
ja" FEl ST, @ "Sour” H HIE FT BN 7

(1) pa
(2) sa
3)
“4)

padl sa

na
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74.

75.

76.

77.

[A]

A and B together can do a work in 15
days, if B alone can do that work in 20
days. Then how many days will A take
to do same work alone ?

(1) 60 (2) 45

(3) 40 4) 30

Anil is standing at 16th position from
the left end in a row of boys. Vikas is at
18th position from the right end. Gopal
is 11th from Anil towards the right and
3rd from Vikas towards the right end.
How many boys are standing in this
row ?

(1) 41
(2) 42
(3) 48
4) 49

Which of the following is a leap year ?
(1) 1800

(2) 1900

(3) 1700

(4) 2000

In a certain code language "go home" is
written as "ta na", "sweet home" is
written as "na ja", "Sweet and Sour" is

written as "pa sa ja", then how "Sour" is
coded as ?

(1) pa
(2) sa
(3) paor sa
4) na

P.T.O.



79.

80.

81.

A T AN AT 9 STH-9TH ©X
3 A @ a9 ¥ veam o S
fesm # 8 foHfl, oo qENT R @ R
§ 6l @ g0 T Eh -3 W
Tgd S E, a1 AN @tk & W@
et g0 fea & 7

(1) 10 fd

) 12 feh

(3) 14 feh

4) 15 feh

7 :20 e W o1 & 91 @ G B
g3 & = A e & T = ?

1) 160°

2) 100°

(3) 260°

) 120°

Y ™ PN B ER W HEl TN
|1 B ?

BT

(A) gt T S 2

(B) FB TS @M £ |
=y :

(1) %8 T g 2 |
(2) %P WM 7 T T
(3) i qmEr I T B
(4) FB 9 ™ 2|

Hie TR RS ®

(1) Cfcerée 3w & fo
(2) Ui 7ed & faq
(3) ™ I & W B fqC
4) T & fom
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78.

79.

80.

81.

Two persons depart from their office
towards their houses. First person goes
8 Km in north direction and second
person goes 6 Km in East direction and
reach their houses, find out the direct
distance of their Houses ?

(1) 10 Km
2) 12 Km
(3) 14 Km
4 15 Km

What will be the angle between minute
end and hour end in a Clock at 7 : 20 ?

1) 160°
(2) 100°
(3) 260°
@) 120°

Which is the correct conclusion based
on given statements ?

Statement :

(A) All leaves are roots.

(B) Some roots are branches.
Conclusion :

(1) Some leaves are branches.
(2) Some branches are not roots.
(3) No branch is leaf.

(4) Some roots are leaves.

Sohna town is famous for :
(1) Historical Lake

(2) Historical Palace

(3) Hot water Springs

(4) Gardens



82.

83.

84.

85.

86.

g & fw gsmEte Hew (W)
g7

(1) IR

(2) U=

3)

(4) €@

g & T U9y ®
(1) 5T T

(2) R Rig

(3) R

4) 9™

ya e ¥ ol 3 foew #R fEE
fepar o ?

(1) ead

() g

(3) s

4) T

AT FAT 3T F © 7

(1) &g
(2) ¥

(3) dreEr
(4) FAMR

ghaen § I JEren-ae gerel i’
H Sic TIGET BT ¢ 7

(1) g AR
(2) Wl A
(3) HET Aa
(4) GE ea
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82.

83.

84.

85.

86.

[A]

How many Administrative divisions are
there in Haryana ?

(1) Four
(2) Five
3) Six

(4) Seven

State animal of Haryana is :
(1) Black buck

(2) Asiatic Lion

(3) Chinkara

(4) Tiger

Where Pratap Singh revolted against the
British ?

(1) Rohtak

(2) Jind

(3) Ambala

(4) Sirsa

Where is the National Cancer Institute
situated ?

(1) Sampla
(2) Meham
(3) Badsa

(4) Kalanaur

Who is the brand ambassador of 'Beti
Bachao-Beti Padhao Campaign' in
Haryana ?

(1) Anu Kumari

(2) Sakshi Malik
(3) Kalpna Chawala
(4) Saina Nehwal

P.T.O.
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90.

forem St gk ol & |1 G A e
A & -

(1) 9HIad
(2) T
(3)
(4) T

S I B R | O R R 4 R
g S R

(1) g
(2) T
(3) Hfes
(4) 9REHE

BRI H RN, SN TS o e
1 feea 7R ¢

(1) ToIam
(2) AT
(3) HlEER
4) fear

TEIM R O 6 @ defa © 7

(1) 9 &9
(2) ETEE
(3) TR
(4) U

[20]

87.

88.

89.

90.

The
boundary with other states is :

district which does mnot share

(1) Panipat

(2) Rohtak

(3) Rewari

(4) Palwal

The river, which makes border between
Haryana and Uttar Pradesh :

(1) Yamuna

(2) Ganga

(3) Sahibi

(4) Markanda

The city of Haryana, which is not part
of National Capital Region :

(1) Gurugram

(2) Sonipat

(3) Faridabad

(4) Hisar

Gurugram is related to which ancient
Guru ?

(1) Ved Vyas

(2) Dronacharya

(3) Parashuram

(4) Kripacharya
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OR & @
Ife T A SIET Wl Bl MR T & Al 3BT SR Tod
HHET ST |

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

mﬁﬁﬁmm/¢aﬁmwaﬁ?ww$aﬁﬁmﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih sqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmwmﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
wrrmmélw@m%wﬁwwmmmwmﬁswﬁﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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